These questions are from Y3 - you should be able to complete a challenge in 5 minutes. If you are finding
some questions tricky - these are the areas that you need to practise.

Arithmetic Challenge 5 Arithmetic Challenge 6

335+ 243 = 2478= [ 936 - 324 = 403 + 334 = 10 x 8 =
758 - 226 = 32+ 4 = 582 + 207 = . 167 + 231 = D
10 x 3 = BI0-440=______ | 4x12= 120 + 360 = 945 - 305 = 3x3=
451 - 126 = 8 x8= 659 + 225 = 20 + 4 = 467 + 129 = 36 - 4 =
362 - 109 = 33+3= 199 + 349 = 567 + 178 = 662 - 473 = 8 x 12 =




Arithmetic Challenge 6 Answers

Arithmetic Challenge 5 Answers
335 + 243 = 578 24+ 8=3 Tx4=28
758 - 226 = 532 32+4=8 582 + 207 = 789
10 = 3 =30 870 - 440 = 430 4 =« 12 = 48

451 - 126 = 325

3= 8= 64

659 + 225 = 884

362 - 109 = 253

3331

199 + 349 = 548

936 - 324 = 612 403 + 334 = 737 10 = 8 = 80
72:8=9 367 + 231 = 598 12 x 4 =48
120 + 360 = 480 945 - 305 = 640 3x3=9

20:4=5 467 + 129 = 596 36+4=9
567 + 178 = 745 662 - 473 = 189 8 x 12 = 96




